107

107E

-] Entries 0
| Mean 0
Std Dev 0

- : ceeelocaadanan 1

| Entries 0
Mean 0
Std Dev 0
e I
Entries 0
Mean 0
Std Dev 0

- T T |
Entrie 0

| Mean 0
0

Std Dev

iy

Ratio

0.5

o086 a2 0 2 4 6 8

(== BRMEREERE

[pull of @parameter

| B @%\;t

Ratio

[ pull of goverp parameter

10‘2 C -] Entries 0
r Mean 0

o Std Dev 0

B R i

B Entries 0

Mean 0

Std Dev 0

e 1

Entries 0

3| Mean 0
10 o Std Dev 0
3 T T T |

B Entries 0

| Mean 0

| Std Dev 0

107k:

iy

0.5

o864 2 0 2

1072

107

| Entries

1| Mean 0
Std Dev 0

+ | Entries 0
| Mean 0

<L Std Dev 0

| Entries 0

Vean

=

Ratio

0.5

%086 -2 -2 0 2

| pull of dxy parameter

1072

1073

1074

-] Entries

| Entries
| Mean

Std Dev. 0
R e I

+ | Entries 0
Mean 0

1 0

"7 Entries

1 Mean

Std Dev

e

[ pull of 8 parameter |

1072

Entries
Mean

0

0

Std Dev 0
freeriereedeeeed
0

Entries

1| Mean 0
Std Dev 0
Entries 0
Mean 0

Std Dev 0

Entries 0
Mean 0
Std Dev

107

=

Ratio

0.5

%086 -2 2 0 2

[ pull of dz parameter

10_2 C —] Entries 0
r | Mean 0

o Std Dev 0

B R R |

B Entries 0

- h | Mean 0

H Std Dev 0

: R 1

Entries 0

3 Mean 0
10°F Std Dev 0
3 T T T |

| . Entries 0

- Mean 0

10

Ratio




	Contents
	Page 1


